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THR_EE YEAR B.A./B.Com./B.Com. (Specialisations)/B.Sc.fB.Sc. (Home Science)/
B.Music/B.Dance/B.C.A./B:B.A./B.A. (OL) and B.H.M. DEGREE EXAMINATION —
OCTOBER/NOVEMBER 2018

CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
Part-1(C) — Foundation Course
Paper I — ENTREPRENEURSHIP
(w.e.f. 201 6-2017)

Time : 2 hours Max. Marks : 50

Answer FIVE questions choosing ONE question from each Unit.
e (808 D [$%oH SHCERR0 Erofos. 58 G650 008 8,578y R 058D
SATEEHA0eD [PAH06.

(Marks : 5 x 10 = 50)
UNIT -1

=~ 1.  Write about the term ‘entrepreneur’. What are the main characteristics of an

entrepreneur?
::5;5%&.3&@ K809 HS) D ego BTHH? 0B ééé%oz')ém oEeToR0 dHBOYIV.
Or

9.  Explain different forms of business organisations.

2 Bs°o :7"5;)»6 ‘.()oge) >80 9HB0HI.
UNIT-11
3. Whatis meant by business idea? Explain the sources of new ideas generation.

' 33.#8 35859 BSHTR? 5] 36‘1‘5:60 59%)5 Ko 30070 epeorod) 580w,
Or

4. What are the fundamentals of feasibility planning?

PePES Ke)_;avc,s?sﬁp_?é Eri08 eowe K18) HJorr o006,

_[PT.O0]
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10.

UNIT - III

-What is project appraisal? Explain its scope.

PBY} @odar Dok @dra? 82 5689 K8 9580%0d.

Or

Examine various steps involved in project analysis.

B T30S’ A0E D) DG S $85O0BH.

UNIT -1V

Briefly explain about NABARD and its functions.
erg 0809 HJorr BA0HAV, T°0 DO EIw 95803508.

Or

Discuss the institutional support to small enterprises.

KJJ"% Bafw DY) HES® IPF00 boi(gf(é mgéo(‘\’) 809 HByoWos.

UNIT -V

Explain the salient features of new industrial policy of small scale industries.

D8 BBS® HBF00KH H5020H0d At BEPE I éooa)§ OFETON DIBoWow.

Or

Write about Incentive policy program.

RFT)TE D) 585800 180 Beyod.
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S-281

THREE YEAR B.Com. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018

SECOND YEAR EXAMINATION
Part II — Computer Applications

Paper II — OBJECT ORIENTED PROGRAMMING IN VISUAL BASIC

(Common for B.A and B.Sc Computer Applications)

(w.e.f 2010-2011)

Time : 3 hours

(b)

(©

(d)

()

®

SECTION - A
WES -9
Answer any FIVE of the questions.
DD DED (50 eraed EEo0H0.

(Marks: 5 x 2=10)

Define (i) Object (ii) class.
REgRoSB0 () &B§ (i) R
List-the characteristics of OOPs.
OOPs @Bw¥), 05700 @Fa0oé.
What is an event? Give example.

Event el 300? &orden 39506,

Write the properties of a window.
£, . AF.
D0E"R @), PS5FR Eranod.
What is subroutine? What are its characteristics?

525 5738 e B20? He3 B, oFeren JD?

Define (i) variable (ii) constant. Give examples.

&ETE008" DB (i) DBahad (i) Sg-

Max. Marks : 70

[P.T.0]
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(z) How Rich text box control will help us? Explain.
Rich text box control %558 Jer &5@BT5E608" DHBokok.
(h) What is a bug? Explain.
wh edrr 3207 2580908.
(1)  What is the necessity of Active X control? Explain.
Active X control Bg), b5 22562 2580H0&.
(5)  Discuss Data flow diagrams.

Cer 2 Cair Dy HBoD H8yoHod.

SECTION-B
WEd - D
Answer any TEN questions choosing at least TWO questions from each unit.
(56 a5057d¢5 EDH50 B 5900 JoWE™D B8 (5405 aTranes EEa0E.

(Marks : 10 x 6 = 60)
UNIT -1
What are the benefits of OOPs?

OOPs G%); e7gren 220637

Discuss about Inheritance in detail.

22BBY) HBod dHeorr 38)0S0é.

Discuss the advantages and disadvantages of polymorphism.
S957°8yzs0 B0 (HAITETeL DB (HEDHOBN ¥Byodod.
Discuss about abstraction and encapsulation.

Abstraction 58052 donsBRS K080d $BY0B0E.

2 S-281
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10.

11.

12.

13.

14.

15.

16.

17.

UNIT -1I

What are the features of Visual basic? Explain.
Visual basic o0 227 9:580350&.

Discuss (a) checkbox (b) Tool box.

(@ 38er§y (b) erd arfye B0 H8yoNos.
Explain Form Layout Window in detail.

26y BT D0E° K802 dHoorr 9580508,
Discuss different form methods.

DD évgé?.nc‘{)&“) K809 $Byovod.

UNIT - I1I

Discuss different data types in Visual basic.

Visual basic &° Ko 99& Ssee Ger @_5‘3;63 {5830{)0&.

Explain various control structures in visual basic with examples.

visual basic &° Ko DD EoeS*S RENRY EOPIPE08° 9380506,
Discuss differént types of files in detail.

99 8570 PSR é)@aom Byow%0d.

Explain (a) Code window (b) The Dir list box control.

(a) §°€ 90&° (b) The Dir &3 ;J"E‘\) §0Le3'se§e> KJB.O&.SB‘DBO:)O&.

_ UNIT-1V
How to build the User Interface? Explain.

User Interface &0 Qe &eafoedd D8° DHBoHOG.

What are the features of MDI? Explain.

- MDI &Bo¥); oFgTen 5972 9580%08.

Discuss different debugging methods.

D 8570 &a:ﬁoﬁ 0656 80 3By0B0d.

Discuss (a) Error Handling (b)_ The file open dialogue box.

(a) Q6 S50&0R  (b) The P& &S gerhi erfy © 0802 $38y0508.
' 3

S-281
[P.T.O.]
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18.

19

20.

21.

UNIT-V
Discuss OLE Automation.

OLE es¢572050%0 $8y0508.

Write a simple invoice generation application.

R0HS argo0d BRBAS @SSR Frokod.

Discuss any.applipation development Life Cycle.

Dpar 0SS B0t BH IS B8y0B04. |

Explain (a) Designing User Interface (b) Developing the custc;mer master form.

(2) &FDOR AHIHE A0eByH (b) K596 Sg6 6y BAAT BB G0 D9B0BOE.
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Scanned by CamScanner



1-3-101

THREE YEAR B.A. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018
- CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
Part-II — Accounts
Paper I — CORPORATE ACCOUNTING
(w.eif. 2016-2017)
(Common to B.Com. (ASP & SM), CA, General, Taxation and Tax Procedure)

Time : 3 hours ' Max. Marks : 75
SECTION - A

WES -
Answer any FIVE of the following questions.
T &9 DB SITEER[0 [EPASVH0.

(Marks : 5 x 3=15)

1. (a) Forfeiture of shares.

ToETO 223).

(b) Issue of shares of premium.
DRoA0 D Tere &b,

(¢) Sinking fund.
DES 8.

(d) Earning per share.
TS e,

(e) v Annuity method.
e ﬁg@.

()  Super profits.
98599 eeren.

(g) Bonus shares.

5555 ToeTren.

[P.T.O.]
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(h)  Book building.
20§ 29oA.
(1)  Contingent liabilities.
o oS 2108 erSgHen.
(0) Final dividend.
B8 GITO.
SECTION -B
WS - ©
Answer ONE question from each Unit. All questions carry equal marks.

99 AIPDES K008 2l (3% BRTEESH0 @b, R (O S350 DRIRH0.

(Marks : 5 x 12 =60)
UNIT -1

X Ltd Invited applications for 1,00,000 shares of Rs. 10 each at a discount of 6% payable
as follows : '

On application Rs. 2.50
On allotment Rs. 3.40
On 1%t and final call Rs. 3.50

. The applications received were 90,000 shares and all of these shares accepted. All money
_ due was received except the first and final call on 1,000 shares.

Pass necessary entries in the journal of company.

X O08E& % 1,00,000 TrereXd wwer 285638 drr. 10 S°0pd 6'% ééﬂboesgs afeE:n VLY
55350208, TP IdoHhew |

(5839 P &5, 2.50

Beranog) P & 3.40

3563 28050 B8 DeH &5+ 3.50

5230 %008 90,000 Treretd S8R0 TP T30 Beron0dTD. Jutsed H08okn H8 e
1,000 TreTreR QI3 DRI @) ToT ey JATSHE.

Kond @nY),; HseoS® BSHERT derSdies ook
Or
2 1-3-101
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Y Ltd. has Rs. 5,60,000 in equity share capital comprising of 40,000 shares of Rs. 10 each
fully paid and 20,000 shares of Rs. 10 each Rs. 8 paid per share. It has Rs. 20,000 in
capital reserve, Rs. 20,000 in securities premium account Rs. 70,000 in capital
redemption reserve account and Rs. 1,50,000 in general reserve. By way of bonus
dividend the partly paid shares are converted into fully paid up shares, and the holders
of fully paid shares are allotted fully paid bonus shares in the same ratio. Pass journal
entries showing separately the two types of bonus issues stated above. It is desired that
there should be minimum reduction in general reserves.

Y 92086 v. 5,60,000 Se8ged Trer H0rr0dins® &8, a8 40,000 Treres 85°. 10 Sy
GBI BPoDHD DB 20,000 Teren &I, 10 THPS - T &, 8 Sy DYooRB.
502DS® Jureds BatsS® 8. 20,000, PErBle WA FrErS” &7 20,000, B0TOEH
JBES Bestog rES® 8. 70,000 %850 Agrdes Bestogd® & 1,50,000 &8, 5w
&Goto&r @308 Yo Trerey Jrimr 3doddenr 3808, O DYodD Teren
EORD Tty &b f‘()f’qb)e_?;éé I8 BQo&S 5555 Toere) Berondrtd. P Bot 8570 500
T OSSN DB FOD0S. GrSes Bastg 009 EF B0 BaHBHR SBT .

UNIT - II

Explain different types of debentures. .
24 Ssve EBOBY K80 dHBoBOs.

Or

Journalise the following transactions at the time of issue and redemption of debentures.
(a) A debenture issued at Rs. 95, repayable at Rs. 100
(b) A debenture issued at Rs. 95, repayable at Rs. 105
() A debenture issued at Rs. 100, repayable at Rs. 105
(d) A debenture issued at Rs. 105, repayable at Rs. 100
(e) A debenture issued at Rs. 102, repayable at Rs. 105
" Note : The face value of each debenture is Rs. 100. s
BIS SESPE005 EBoBE e HBHO FATHS F0E’ DeFiSEeR Eavod.

(@) ol ABoSBR> 5. 95, & erB3 Kv. 100 & T35 Dasrd
(b) a¥ ABowbiy 8. 95, £ a8 K. 105 & A0S Dafred
(© a8 &Bosbiy 87, 100, & wrB3d &, 105 8 I35 BoKrd
(@) 28 GBosbio 8. 105, K eB3d &or. 100 8 205 Baird.
(e) ¥ &Bowbiy 8. 1028 arb3d 8. 105 8 93070 DAk
S5 : GBoBL GBoo¥); H0@6 ded &, 100.

3 1-3-101
[P.T.0]
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UNIT-111

Calculate the goodwill from the fellowing :
(a) Capital emploved Rs. 6,00,000 -
(b) Profits for last 3 vears.
15 vear Rs. 1.07,600
2=d year Rs. 90,700
vear Rs. 1,12,500

A

(¢) Normal rate of return 12% on capital
(d) Remuneration for the services of entrepreneurs Rs. 12.000

() Goodwill is 3 years purchase of surplus profits (super profits).

BKOS 9385000 Boo@ HEDES DRy B 003.
(a) 9BTRoDD Juredsso &r. 6,00,000
(b) K8 Jored SoSESIVe ergEe.
Bo0¢5ed SoSEYEH0 &=, 1,07,600
25 So5%y850 e, 80,700
3% Sod)Bw 8. 1,12,500
©) &8s oad B ;Safaf;’:;éo?g 12%
(d) 05.;&55"55 PP [$8veo &= 12,000
(€) KHEIS 3 Jo5EyTre 8EdY erero SRR .

Or

" From the following information calculate value of goodwill.

(a) Sundry assets of the firm are Rs. 22,50,800 and current liabilities are Rs. 93.625
(b) Average capital employed in the business is Rs. 18,00,000
(c) Rate of interest expected from capital having regard ta the risk involved is 10%

(d) Net trading profits of the firm for the past three years are Rs: 3.22.800.
Rs. 2,72,100 and Rs. 3,37,500
(e) Fair remuneration to the partners for their services is Rs. 36,000 per annum.

4 1-3-101
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BIOD ahgls S5TE50 ok G el dyod.
(a)  DoR Dexd wdyes 6. 22,50,800 Hi8ds» (575285 eszjypmd 637, 93,625
(b) ?53@5:),1366 2ABIR0H DK HITreHo v, 18,00,000
(© TgrBos” SpUcsrR) 84,6 5T Hrogssn D eod O 6w 10%
d) Ko Hords  Rodtyoe . dEE HE5 egres D08 6. 03,22,800,
g, 2,72,100 5805 8. 3,37,500

(©)  wrifiom woBond Hded TEAS ($Ei0sn SosdTRE 677 36,000.

UNIT -1V

Explain various methods of valuation of shares.
D T Zaoﬁeréoga‘a ;'Jgéooéo DHBoHHd.
. Or

Following particulars are available in relation to D Ltd.

(a) Capital’: 450, 6% preference shares of Rs. 100 each fully paid, 4,500 eqﬁity shares
of Rs. 10 each fully paid.

(b) External liabilities : Rs. 7,500
(¢) Reserves and surplus : Rs. 3,500 _
(d) Average normal profit earned every year by the company Rs. 8,505

(e) Normal profit earned on the market value of equity shares, fully paid, of the same
type of companies is 9%

Calculate fair value of shares assuming that out of the total assets worth Rs. 350
as fictitious. '

| D 020B5% $0008095 BIS D500 0PODIHYI.

(a) Sorewto 8. 450, 6% B Teres af NS & 100 O 39oand, 4,500
Sodged Treren 257,58 8. 10 T55pd Jror 3Yoodo. | '

(B)  2rgs egpes 8. 7,500
(c) Bestiogen, rHAY &e. 3,500,
@) (58 Bosto Eod efRy) Hifen ergres &r. 8,505

() b 55308 Sovbe eftud Frprte orgre Sr73),e5 Deod P 9% Bo eiyed” 8. 350
Dend o ¥y e300 &R gD T°T° D28 eV XA R0,

5 1-3-101
[P.T.0]

Scanned by CamScanner



UNIT -V

10.  Give a specimen form of balance sheet according to the Companies Act, 2013.

So0e B0 2013 (580 LoD B, &l - epe 383 DB eIk

Or

11.  The trial balance of Vishnu company on 31t March 2016 is as follows :

Dr. Balance Rs. Cr. Balance Rs.

Investments 24,500 Share capital 1,25,000
Staff welfare expenses 37,560 Reserves 6,500
Opening stock 75,060 Sales 2,25,000
Purchases 57,600 Discount (Cr.) 14,000‘
Wages 30,000 Profit and loss A/c 19,500
Salaries - 4,000 Creditors 10,000
Rent ‘ 2,500
Debtors 31,000
Plant and machinery . 15,000
Furniture ' 9,000
Sundry expenses 4,500
Dividends paid 6,000
Trade marks 8,500
Cash at bank 45,000
Difference in Trial balance 50,000

Adjustments :

(a) Cl&sing stock Rs. 95,000

(b)
(c)
(d)
(e)

Depreciation on plant and machinery 20%
Provide tax provision at 50%

Ignore the corporate dividend tax
Outstanding staff welfare expenses Rs. 2,500.

Prepare profit and loss a/c and Balance sheet.

6 1-3-101
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30,000
4,000
2,500

31,000

15,000
9,000
4,500
6,000
8,500

45,000

50,000

4,00,000

(@) R0 $E% deg K. 95,000

(b) Jrotw - dboEreR SHHE 20%

(©) ey Sy 5o 50% DT

Cr. dogev &oe.

Ioes Darrodee  1,25,000

Bastogen 6,500
BARS O 2,25,000
A\

&d,085 (Cr) 14,000
PRI P 19,500

Q00STTWD 10,000

4,00,000

d) s°6Ben GaBotI 98,58 S TR L3I0 So

(e) =os° bg?ob;seaf’o;() 08 B . 25,000

DEED) ST PR, G - VPO S0 BarEIAbod:

7
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2-3-101

THREE YEAR B.Com. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018
CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
Part II
Paper 302 — BUSINESS STATISTICS
(Common to B.Com.-General, Comp. Appl., ASP & SM & Taxation and Procedure)
(w.e.f. 2016-2017) '

Time : 3 hours Max. Marks : 756

SECTION - A
2ES -2
Answer any FIVE of the following questions.
DT DEY (%08 SRICEERHR0e0 FEa0D8D.
(Marks : 5 x 3 =15)
1. (a) Define statistics. :
- ezo¥ BYBH0R DEGI0BOE.

(b) Secondary data.

BBOH SToEaw.
(¢) Lorenz curve.

008 HE0Y. .
(d) Meaning of correlation.

DEPH02065:500 RITR?
(© Find S.D., If SKP = 0.8, AM = 30, Mode = 24.

SKP = 0.8, AM = 30, Mode = 24 a8 Ef008.
() Tabulation.

5638 5.
(g Find probable error where r:0.63, N:9.

1:0.63, N:9 0 Sogradgh &S00 SR80S0,
(h) Fisher's Ideal Index numbers. |

P30y esCSéS,R Jod o).

[P.T.0]
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(i) Types of Index numbers.
ared o3y Eseen.
(G) . Use of computer software.
EoJrgeab b esd@ormren.
SECTION -B
WES - B
Answer ONE questions from each Unit.
JDT® G505 M00G 2 (0 BITERRH ErABn.
Marks: 6 x 127= 60) .
UNIT -1

Draw a simple bar diagram to represent the following figures relating to manufacturing
of machines.

28 OO &%) S0P Se (808 SHT B0 WoKEADEPIHE, T esprsorT 2.8 peSes erb Bgr

JBod RaHod. ,
Years : 2008 2009 2010 2011 2012
(Rondooen)
No. of Machines: 1200 1700 1900 2800 2100
o580 Bogy)

Or

Draw a histogram from the following. Also draw the frequency polygon.

e 308 D070 eIFEONT SPYPITOR0 HBA0 TR dBoBos.

ClI f

5-10 3

10-15 5

15-20 9

20-25 16

25-30 18

30-35 13

35-40 11

40-45 7

2 2-3-101
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UNIT-1I
Compute Arithmetic mean and median from the following.

©0EB0¢550B0R0 oBaskw mepéxéom B88),0%908..

Class : 0-10 10-20 20-30 30-40 40-50 50- 60 60-70
(BBKSB) 4
Frequency: . 3 8 15 20 25 10 5
(Brd2RgH0)

' Or

Calculate mode for the following data.
L§oﬁ DITOK) ETVTEI0R EXORH0E.
x: 50 60 70 80 90 100 110
f: 5 10 15 20 7 3 2
UNIT - I1I
From the following compute quartile deviation.
s @oa DHTO SEEOMT HHITLOBE HHONIN 88),0%06.
CI: 07 7-14 14-21 21-28 28-35 35-42
- 1 2 "3 4 3 2
Or
Find out standard deviation.
[@o0e0E DBHOBH0 E0R"Hos.
X: 10 30 50 70 90 110 130 150
- F: 5 8 12 17 20 11 7 5
UNIT -1V
Calculate Karl Pearson’s co-efficient of correlation.
i S"&)dioq)s HEPR0206 HreaseR) Kead Daod.
X: 50 45 30 25 15 5 40 20
Y: 8 40 30 70 20 80 90 O
. Or
Determine the equations of regr‘ession analysis.
[3KR0E I3 SDEGeTo E0R°H0G.
‘ X: 15 20 22 27 40 45 52
Y: 3 5 9 15 27 30 34

3 2.3-101
[P.T.0]
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UNIT -V

10. Calculate price inciex from the data given.
&8 18308 9HT°0 ok FY Wed Qoo B8),0908.
| Item  Price in 20 12‘ Price in 2014
Shopen  20128° 58 2014 &° &8

X . 40 48

Y 2 27

Z 95 105

A 110 120

B 80 100
Or

11. Calculate Fisher’s Ideai index ﬁumber.
2158y esestsy 5b Boao Bg,0B08.
Commodity Pricein 2013 Quantity Pricein 2015 Quantity
Sper  20138° 8 SBArmdAn 201567 ¢85 583rteadn

A 32 - 25 40 - 35
B 50 -2 40 30 )
C 40 18 60 25
D 35 30 52 40
E 40 32 48 45
4 2-3-101

Scanned by CamScanner



\ 1-3-101

THREE YEAR B.A. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2018
CHOICE BASED CREDIT SYSTEM
~ THIRD SEMESTER
Part-II — Accounts
" Paper I — CORPORATE ACCOUNTING
(w.e.f. 2016-2017)
(Common to B.Com. (ASP & SM), CA, General, Taxation and Tax Procedure)

Time : 3 hours Max. Marks : 75

~ SECTION - A

NES - D

Answer any FIVE of the following questions.
DD DY (0L HATFERR0 PSRN0

(Marks : 5 x 3 =15)

1 (a) Forfeiture of shares.

T 283)).

(b). Issue of shares of premium.
000 D Tero &b,

(c) S‘inking fund.
8D DB.

(d) Earning per share.
Terd edd.

(e) Annuity method.
88 5%@.

(f) Super profits.
) TP,

(g) Bonus shares.

5858 Teesren.

[P.T.O.]

Scanned by CamScanner



(h) Book building.

2§ B9of.
(1) Contingent liabilities.

eoi{od08 2008 ergigHen. |
G) Final dividend.

&8 GITO).

SECTION - B
WES - D

arry equal marks.

e BRIPROH.

. Answer ONE question from each Unit. All questions ¢
98 0ImDES 508 2.8 [$%K SRIEEEIH @EPoi0N. O (55050 S

(Marks : 5 x 12=60)
UNIT -1

X Ltd Invited applications for 1,00,000 shares of Rs. 10 each at a discount of 6% payable
as follows : ‘ '

On application | Rs. 2.50
On aﬂofment Rs. 3.40

On 1t and final call - Rs. 3.50

The applications received were 90,000 shares and all of these shares accepted. All money
due was received except the first and final call on 1,000 shares '

Pass necessary entries in the journal of company.

X 920838 =th 1,00,000 srereH weer a8l 8. 10 Spo 6% &avboﬁsﬁ 830

5535000908, TP DYoYHeD /

5%y D 6. 2.50
Berano) B & 3.40
2006563 508050 B8 devy) 8. 3.50

(deze Hood 90,000 T SBPPRRY TV o3 BEIFAN0DTE. DG 08050 &8 Dewd)
1,000 e 23558 DRH B TANT® Fy SKBHE.

$0R Gk); D DS’ BDBERNT &wn)c’ne)o Fro0d.
Or
: © 1-3-101
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Y Ltd. has Rs. 5,60,000 in equity share capital comprising of 40,000 shares of Rs. 10 each
fully paid and 20,000 shares of Rs. 10 each Rs. 8 paid per share. It has Rs. 20,000 in
capital reserve, Rs. 20,000 in securities premium account Rs. 70,000 in capital
redemption reserve account and Rs. 1,50,000 in general reserve. By way of bonus
dividend the partly paid shares are converted into fully paid up shares, and the holders
of fully paid shares are allotted fully paid bonus shares in the same ratio. Pass journal
entries showing separately the two types of bonus issues stated above. It is desired that
there should be minimum reduction in general reserves.

Y 920838 8. 5,60,000 Se8ged Trer Sarestsns’ e8. a8 40,000 Trereo . 10 STYpI
B 390090 B 20,000 Fereo &, 10 SHpS - T & 8 TR o8-
EondS® Borads Batins® . 20,000, ?o§3'°§6e3e5 00500 aﬁv@vesf 8r°. 20,000, 205708
TBEH Badg reeS® &3, 70,000 $080% Agrdes ButhgS” &m. 1,650,000 &8. TR0
&aGo&r edoror 3902 Terod Jrom DYoDHeNT éﬁé&a‘:ﬁ, BT DoV TETe
ORS TermH oB IS’ O™ BP0 SHD Teresy Serandh. P Tod 85O FIY
Tere @SSERD DEFHEOR FOH0G. FEres Bathy 000 SZ BRoD DaHDBH0 §°B.

UNIT - 11

Explain different types of debentures.
D E5°0 GBoIY HBod 9H580H06.

Or

Journalise the following transactions at the time of issue and redemption of debentures.
(a) A debenture issued at Rs. 95, repayable at Rs. 100
(b) A debenture issued at Rs. 95, repayable at Rs. 105
(c) A debenture issued at Rs. 100, repayable at Rs. 105
(d) A debenture issued at Rs. 105, repayable at Rs. 100
(e) A debenture issued at Rs. 102, repayable at Rs. 105
Note : The face value of each debenture is Rs. 100.
B0 SESTANOLH EBoBE &8 20800 JDD TS degPEers Erabod.

(a) 2. &BouEd &, 95, H &R &e. 100 § J-DD DA |
(b) 2.& ABodb &, 95, ¥ bR 50, 105 & SArSH S50
© 2% &BosEd 8. 100, £ @83 &re. 105 8 J35°% DaSrd
@ 2% &Bonbd 8. 105, £ 283 e, 100 & JeDD Dasrd
(€) 2% &BosbHd 8. 1028 arbID &ov. 105 § 537D DA

575 : ABoDK B, BB dend 8. 100.

3. 1-3-101
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UNIT - 111

Calculate the goodwill from the following :

()
(b)

(©
(@)
(e

Capital employed Rs. 6,00,000

Profits for last 3 years.

1st year Rs. 1,07,600

2nd year Rs. 90,700

3rd year Rs. 1,12,500

Normal rate of return 12% on capital

Remuneration for the services of entrepreneurs Rs. 12,000

Goodwill is 3 years purchase of surplus pfoﬁts (super profits).

85D 9830 K008 KHEDS e B 0:800.

€y
(b)

(©)
(d)
(e)

DOBIRoDD Baregsdo K. 6,00,000
Ke“? QTP FODHYEIN ergren.
Bt oy &7, 1,07,600-

23 BoSeES80 83°. 90,700

35 BoSEEED &°. 1,12,500
ee8es Toad Bew BaTreEHop 12%

05T WK (3&He0 e, 12,000

KEDS 3 SosByore i) ergre §THoR .

Or

From the following information calculate value of goodwill.

(a -

(b)
(©
(d

(e)

Sundry assets of the firm are Rs. 22,50,800 and current liabilities are Rs. 93,625
Average capital employed in the business is Rs. 18,00,000
Rate of interest expected from capital having regard to the risk involved is 10%

Net trading profits of the firm for the past three years are Rs. 3,22,800,
Rs. 2,72,100 and Rs. 3,37,600
Fair remuneration to the partners for their services is Rs. 36,000 per annum.

4 1-3-101
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BKOS aSED BATTES0 B00d HEISH Dend ¥eod.

(a)
(b)
(©)
(d)

(e)

D08 Deud esyen 8r°. 22,50,800 J0Basn [Pdd egpen 83°. 93,625

TogPRE06S° OB ROH Hiew SareHo 8. 18,00,000

TogPRE0S® BHEHAITR) BY,S™E S0E™D TP P S0 B Gen 10%

K6 dardh  doddyre ¢ Q58 H¥E  ergrey  SHIT 8. +3,22,800,
8. 2,72,100 BBk 8. 3,37,500 |

PG> 080D BHEF TYAAD [BSFRN S0IHTRS &7 36,000.

UNIT -1V

Explain various methods of valuation of shares.
DD T meréogx) ?.’)géoozﬁo DHBoHD.

Or

Following particulars are available in relation to D Ltd.

(a)

(b)
(©
(d)
(e)

Capital : 450, 6% preference shares of Rs. 100 each fully paid, 4,500 equity shares
of Rs. 10 each fully paid. :

External liabilities : Rs. 7,500
Reserves and surplus : Rs. 3,500
Average normal profit earned every year by the company Rs. 8,505

Normal profit earned on the market value of equity shares, fully paid, of the same
type of companies is 9%

Calculate fair value of shares assuming that out of the total assets worth Rs. 350.
as fictitious.

D &0BEL 502008099 BIHD DIT°E0 ©POVIYD.

(a)

(b).

©
(d)
(e)

Sareisno & 450, 6% SEDH Twred 87,8 8. 100 B 3Qodnd, 4,500
S8 Tere0 257G, 8. 10 s BT 390092,

22r8H eSpen 8°. 7,500
N \
Besdogen, oY) 8. 3,500

5 Bos%ySo Kobd efSus) Bifew ergren K. 8,505

B 5520 KondE efRo AT ergra) SI78),e5 ded P 9% o eXes” 8. 350

Devd Ko ¥ €06 BT GrdR) T D De0SH) SRR,

5 | 1-3-101
[P.T.0.)
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UNIT-V

10. Give a specimen form of balance sheet according to the Companies Act, 2013.

Zo1de 3620 2013 (S350 0D B, &) - sJpo D3 FJTTTR BorHoé.
9 - ©

Or

11. The trial balance of Vishnu company on 315t March 2016 is as follows :

Dr. Balance
Investments
Staff welfare éxpenses
Opening stock
Purchases
Wages
Salaries
Rent
Debtors
Plant and machinery
Furniture
Sundry expenses
Dividends paid

Trade marks

Rs.
24,500

31,000
15,000
9,000
4,500
6,000
8,500
45,000
50,000

4,00,000

Cr. Balance Rs.
Share capital 1,25,000
Reserves 6,500
Sales 2,25,000
Discount (Cr.) 14,000
Profit and loss A/c 19,500
Creditors 10,000

4,00,000

Cash at bank
Difference in Trial balance
Adjustments :
(a) Closing stock Rs. 95,000
(b) Depreciation on plant and machinery 20%
(¢) Provide tax provision at 50%
(d) Ignore the corporate dividend tax
(e) Outstanding staff welfare exp;anses Rs. 2,500.

Prepare profit and loss a/c and Balance sheet.

6
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93 00D Aok, eoSes 31.3.2016 & 808 dore &od.

| Dr. deogen ‘ 8. Cr. dogen 8.
Deygwdes 24,500 e Soreisdo  1,25,000
DanoB Jog p8ney 37,500  Basbgen 6,500
D508 S deg 75,000 edyser 2,225,000
SRR 57,500 &@o&oé (Cr.) 14,000
dsTred 30,000 ergsdape @ 19,500
Deeen ' 4;000 2VEITHO 10,000
& . 2,500
" a0os|fsge . 31,000

080 - AoV 15,000

$8)8 9,000

2265 PEN 4,500
 &9Bog DD 6,000

838 B8, - 8,500

25080 S” K 45,000

eo¥ersS’ B 50,000

4,00,000 4,00,000

K)égamg 3

(@) Hofod SE% deg &, 95,000

(b) Spoen - 0530@‘5’6.3 BSOS 20%

©  emabs 55y §%0 50% oy

@)  B°5Ben BoBotki 88,5 SE TS ennto ész;o
() aos 3YosHen Deyyod PBY) &7 25,000

S5 erarsage T, ol - eipo IPO BairEddhod.

3 1-3-101

Scanned by CamScanner



OCTOBER/NOVEMBER 2018.
CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
Part II — Computer Applications
Paper I — PROGRAMMING IN ‘C°
(w.e.f. 2016-17)

Time : 3 hours

1. (a)
(b)
(©
(d)
@
®
(®

(h)

0)

SECTION - A
PES- I

Answer any FIVE of the following questions.

1-3-106

THREE YEAR B.A/B.Com. (CA) AND B.Se. (CA) DEGREE EXAMINATION —

Max. Marks : 75

808 TRS° I3D D&y (SO SHEERBE) EPA0B0.

(Marks : 5 x 3 =15)
Define flow chart and algorithm. :
©98E 2BAL FTHRL DBgDOBOBW.
Define variables and constants
D556 2B SR)eroedy DYTIOHIW.
What is type casting? Give an example.
Type casting &NTI? ém"?’.ﬁdmrﬁ)m&
What is nested loops? Give example.
Nested loops ®RFR? GEPIPEER30Y.
What is recursion? Give an example.
Recursion &mRd0? &TrSeadsoy. ’
What is an array? Give an example.
Array eRmad0? éw";’)"éeamﬁoo&.

Define global parameters and local parameters.

Global &°0°20608) 08c5w local 00605y DEGDOBD.

What is nested structures? Give an example. -

Nested structures e:5mad07? ém"?&"dmﬁ)m&.

How to detect the end-of-file in ‘C’?

‘C’ &° end-of-file X0 oM K>BoDEH0?

What is the need of command line arguments.
Command line arguments GBE); @HITORO EPALL[N.

(1% +1%=3)
. 1% +1%=3)
(2+1=3)
(2+1=3)
(2+1=3)
(2+1=3)
1%+1%=23)
(2+1=3)

®3)

3)

[P.T.O/]
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SECTION - B
 WES-B
Answer ONE questions from cach Unit. Each question carries 12 marks.
(5O ArDe5 K008 2 (SHE BTN ErainB0. 58 (5 12 D60
(Marks : 5 x 12 = 60)
UNIT -1
Write the characteristics of structured programlming language. (12)
858 REID00R erorgd Book); oFereRd s,
| Or
Explain I/O statements in ‘C’ with examples. (§+6= 12)
‘C D088 I/0 statements ;ﬁ.)_ 65“:?629556 DHB0DHA.
UNIT - 11

Explain decision control statements with exémpleé. (6+6=12)

Decision control statements ) &orrEe8’ 2H80HH. |
Or

Explain the functions with
(a) Pass-by-value ,
(b) Pass-by-address. . (12)

(a). Pass-by-value
(b) Pass-by-address &0 functions &°50° HB0HD0.
UNIT - 111

Explain linear and non-linear arrays with examples. ' (12)

Linear and non-linear arrays &0 &80 &°0° DDB0)H00.

Or

Explain any four character functions with example. ) (12)

Character functions b@_ﬁ‘ m?oe&‘{) &rEe08° 95B05H0.

2 1-3-106
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10.

11.

UNIT - IV
Explain the following
BoB 7730 25B0HI.
(a) Pointers énd arrays.
0000808y BoBasw @BR
(b) Generic pointers.

568 000808y

Explain the following. . -

208 T30 958030
(a) Unions

di).)‘“&)di)s‘b

- (b)  Arrays of structures. ..

9B 08050 55
UNIT -V

Explain different file accessing modes with examples.

2 file accessing modes X &TSe08° 3580HDw.

Or

Explain command line arguments with example.

Command line arguments X0 &TrrEe08° DHB0HHN.

(6+6=12)

. (6+6=12)

(12)

(12)

1-3-106
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